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[This question paper contains 6 printed pages.]
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Answer any 5 questions.

All questions are divided into Sections A and B.
Attempt any 5 questions out of 7 questions from each
of the sections. Section A has short answer questions
and each carries 5 marks whereas Section B contains
long answer questions and each carries 10 marks.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTION - A
(W 1)

1. Diagrammatically show how does an increase

in the real money stock shifts the LM curve to the
right.
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2. What is “pegging the interest rate”? How does

a central bank peg the interest rate in the short-
run?
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Diagrammatically cxplain the concept of ‘liquidity

trap’.
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Explain the determinants of the bargaining power a

worker.
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Explain how the adverse inflation shock affects the

SRAS line.
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How does a reduction in the marginal tax rate affect

both aggregate demand and aggregate supply?
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Explain how the exchange rate is determined in a

flexible exchange rate system.
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SECTION - B
(wig w)

List three types of uncmployment and their causes.
Which of these types is cconomically and socially the

lcast costly? Explain.
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Suppose there is a sudden increase in oil prices. What
will be the effect on output and inflation in the short-
run? What is the ‘dilemma’ faced by the Reserve

Bank because of the adverse inflation shock?
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What is crowding out, and when would you expect it
to occur? In the face of substantial crowding out,
which will be more successful, fiscal or monetary

policy?
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4. What are the short-run and medium-run effects of an

expansionary monétary policy?
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5. Given :—

C =40 + 0.75Y
I =140 — 101

L =0.2Y — 5i
M/P = 85

(i) Find the IS equation.
(ii) Find the LM equation.

(iii) Find the equilibrium level of income and rate of

interest.
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Explain how and why the income and interest

sensitivities of the demand for rcal balances affect

the slope of the LM curve.
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Discuss the circumstances under which the monetary

and fiscal policy multlpllers are each, in turn, equal to

zero. Explain why this can happen and how likely you

think this would happen?
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